CIS 110 (11fa) final exam
60 -
50 -
40 -
2
(=
S
3 30 A
<
™y
@ Frequency
20
10 -
O T T T T I.I T T T T T T T T
Q Q Q Q Q Q Q Q N Q ) O Q Q Q Q
Y A% %) ™ b2 © A ) %) QS N W > ™ \2)
1 © (-1 1 1 1 1 ] (1 N Y e Yy Yy
A R @ AT 0 (T 0T T T 6
Score (out of 150)

Problem 1 Problem 2 Problem 3 Problem 4 Problem 5
4.518018 9.283784 13.68919 14.58559 17.33333
5 10 14 15 18

5 10 15 15 20
0.747327 1.281828 1.630526 1.461224 3.466278

(There is no slide
for this exam.)

Problem 6 Problem 7 Problem 8 Problem 9 Total
18.49099 17.36486 16.32432 18.93243 130.5225
20 18 17 20 135

20 20 20 23 137
3.018407 3.455893 4.10311 5.060711 17.00112



